Question E: Georgia’s always on my mind Solution

El

(a) They are opening the letter

-----------------------------------------------------------------

(b) You (pl.) have repaired the computer. ......cccoeveiiiiiiiiiiiiiiiiiiiiiiieeeaene,

(c) Adam is building @ MUSEUITL. ...cuininininiiiiee e e e aeaanas

(d) We have written a story/history

E2.

................................................................

(@) FBOOIQIAOL SIGD. -.iiiiiiiieieii it
(b) 53AMAMBOO TYFOFP0VY- - eniiiiiiiiiiiiieee e

(€) BLOIOOL FOWGDOD. ..

(d) BOBLYJIOIO 2OO3GOIGU. et

E3. Explain, as clearly and as concisely as you can, the main features of
Georgian grammar that emerge from the data.

1st sing.

2nd sing.

3rd sing
1st pl.
2nd pl.
3rd pl.

1st
sing.
2nd
sing.
3rd
sing.
1st
pl.
2nd
pl.
3rd
pl.

Present tense

3- + verb root [VR]

VR
- VR +-U

3-+VR+ -0

VR + -

VR +-96
Present Tense
Toopenl To build
35090 3509690
vagheb vasheneb
5090 59969
agheb asheneb
5090L 599690l
aghebs ashenebs
35009000 3509690,
vaghebt vashenebt
S©09Om 599bgdm
aghebt ashenebt
509096 58969996
agheben asheneben

Aorist tense

Preverb vowel(PV)+ -3- + VR

PV+VR

PV+ VR + -a

PV +-3- +VR + -»

PV + VR +-m»

PV+ VR + -1

Aorist Tense

Toreceive To make To repair
3090 09393099 893539079
vigheb Gavakete sevakete
0QJ0 09930979 8953909
igheb gaakete sheakete
0oL 23993900 3953909
ighebs gaaketa sheaketa
30QQ0™ 35530009 T)3539190
vighebt gavaketet shevaketet
0©9Oom 23993909 095390090
ighebt gaaketet sheaketet
009%90 23593909L 3953909L
igheben gaaketes sheaketes

To write
©53h0M9
davtsere
5969
datsere
[CHION
datsera
3hoMgo
davtseret
g9
datseret
fgoL
datseres



Nouns as objects
Nouns have (at least) two forms when apparently being used as the verb’s object. The two
relevant examples are shown below, with an alternation between -U/s and -o/i . The choice
of noun form depends on the verb’s tense.

door letter
A) with present tense 3o60b  §gMHoel
B) with pasttense ~ s®o  gMogro

Nouns as subjects

At least one subject noun has two forms: Andria is sb®os in ‘Andria and his mother are
receiving a package’ but 56009 (with an extra final 9/m) in ‘Andria has written a poem’.
This variation is presumably due to the verb’s tense (and we see the same extra letter on
Ekaterine 935¢g0bgd in a past-tense sentence) but it is not found on the first of two
coordinated subjects, as in ‘Levan and I’ or ‘Eduard and Ekaterine’.



